

**CERTAIN CLASSES OF ANALYTIC FUNCTIONS
 BY USING SÄLĂGEAN CARLSON-SHAFFER OPERATOR**

¹DILEEP L.* AND ²RAJU D. S.

**¹Associate Professor, Department of Mathematics,
 Vidyavardhaka College of Engineering, Gokolum III- Stage, Mysore-02, INDIA.**

²Associate Professor, Department of Mathematics, NIEIT, Mysore-18, INDIA.

(Received On: 15-02-18; Revised & Accepted On: 13-03-18)

ABSTRACT

In this paper, we define the subclass of analytic function by using Sălăgean Carlson-Shaffer Operator. The objective of this article is to obtain the result concerning the coefficient estimates of the class $M_\lambda(a, c, m, \alpha)$.

Key words and phrases: Analytic functions, Carlson-Shaffer operator, Sălăgean operator and Inclusion theorem.

2000 Mathematics Subject Classification: 30C45.

1. INTRODUCTION

Let A denote the class of analytic functions f of the form

$$f(z) = z + \sum_{m=2}^{\infty} a_m z^m \tag{1.1}$$

which are analytic in the open unit disc $U = \{z; |z| < 1\}$. Let $M(\alpha)$ be the subclass of A consisting of functions f which satisfies the inequality,

$$\Re \left\{ \frac{zf'}{f} \right\} < \alpha, \text{ for some } \alpha > 1.$$

Let $N(\alpha)$ be the subclass of A consisting of functions f which satisfies the inequality,

$$\Re \left\{ 1 + \frac{zf''}{f'} \right\} < \alpha, \text{ for some } \alpha > 1.$$

Then we observed that $f \in N(\alpha)$ if and only if $zf' \in M(\alpha)$. For $n \in \mathbb{N}_0$ and $\lambda \geq 0, a, c, \in \mathbb{R} \setminus \mathbb{Z}$, let a linear operator [2] defined by

$$SL_\lambda f(z) = (1 - \lambda)[(k * k * \dots * k) * f] + \lambda[\phi(a, c) * f](z), \quad z \in U, \tag{1.2}$$

where $k(z) = z(1 - z)^{-2}$ is the Koebe function and

$$\phi(a, c; z) = \sum_{m=2}^{\infty} \frac{(a)_{m-1}}{(c)_{m-1}} z^m, \quad |z| < 1, \quad a, c \neq 0, -1, -2, \dots,$$

is the incomplete beta function. For functions $f \in A$ of the form (1.1), we have

$$SL_\lambda f(z) = z + \sum_{m=2}^{\infty} B_\lambda(a, c, m, n) a_m z^m, \tag{1.3}$$

where

$$B_\lambda(a, c, m, n) = \left[(1 - \lambda)m^n + \lambda \frac{(a)_{m-1}}{(c)_{m-1}} \right]. \tag{1.4}$$

Here $(a)_m$ is the Pochhammer symbol defined in terms of the Gamma function by,

$$(a)_m = \frac{\Gamma(a + m)}{\Gamma(a)} = \begin{cases} 1, & \text{for } m = 0 \\ a(a + 1)(a + 2) \dots \dots (a + m - 1) & \text{for } m \in \mathbb{N}. \end{cases}$$

Corresponding Author: ¹Dileep L.*

**¹Associate Professor, Department of Mathematics,
 Vidyavardhaka College of Engineering, Gokolum III- Stage, Mysore-02, INDIA.**

Now using the linear operator SL_λ we define the class $M_\lambda(a, c, m, \alpha)$ consisting functions of the form (1.1) satisfying the condition

$$\Re \left\{ \frac{z[SL_\lambda f]'}{SL_\lambda f} \right\} < \alpha. \tag{1.5}$$

Note that $a = c = 1$, and $\lambda = 1$ the class reduces to $M(\alpha)$ and $a = 2, c = 1$, and $\lambda = 1$ the class reduces to $N(\alpha)$ defined by Owa and Nishwaki [3].

2. INCLUSION THEOREM INVOLVING COEFFICIENT INEQUALITIES

Theorem 2.1: If $f \in A$ satisfies

$$\sum_{m=2}^{\infty} \{(m - k) + |m + k - 2\alpha|\} B_\lambda(a, c, m, n) |a_m| \leq 2(\alpha - 1), \tag{2.1}$$

for some $0 \leq k \leq 1$, then $f \in M_\lambda(a, c, m, \alpha)$.

Proof: Let us suppose that

$$\sum_{m=2}^{\infty} \{(m - k) + |m + k - 2\alpha|\} B_\lambda(a, c, m, n) |a_m| \leq 2(\alpha - 1), \quad f \in A.$$

It suffices to show that,

$$\left| \frac{\frac{z[SL_\lambda f]'}{SL_\lambda f} - k}{\frac{z[SL_\lambda f]'}{SL_\lambda f} - (2\alpha - k)} \right| < 1, \quad (z \in U).$$

We note that,

$$\begin{aligned} \left| \frac{\frac{z[SL_\lambda f]'}{SL_\lambda f} - k}{\frac{z[SL_\lambda f]'}{SL_\lambda f} - (2\alpha - k)} \right| &\leq \left| \frac{(1 - k) + \sum_{m=2}^{\infty} (m - k) B_\lambda(a, c, m, n) a_m z^{m-1}}{(1 + k - 2\alpha) + \sum_{m=2}^{\infty} (m + k - 2\alpha) B_\lambda(a, c, m, n) a_m z^{m-1}} \right| \\ &\leq \frac{(1 - k) + \sum_{m=2}^{\infty} (m - k) B_\lambda(a, c, m, n) |a_m| |z^{m-1}|}{(2\alpha - 1 - k) - \sum_{m=2}^{\infty} (m + k - 2\alpha) B_\lambda(a, c, m, n) |a_m| |z^{m-1}|} \\ &< \frac{(1 - k) + \sum_{m=2}^{\infty} (m - k) B_\lambda(a, c, m, n) |a_m|}{(2\alpha - 1 - k) - \sum_{m=2}^{\infty} (m + k - 2\alpha) B_\lambda(a, c, m, n) |a_m|} \end{aligned}$$

This expression is bounded above by 1 if,

$$(1 - k) + \sum_{m=2}^{\infty} (m - k) B_\lambda(a, c, m, n) |a_m| < (2\alpha - 1 - k) - \sum_{m=2}^{\infty} (m + k - 2\alpha) B_\lambda(a, c, m, n) |a_m|$$

which is equivalent to condition (2.1). Hence the proof.

Example: The function f given by

$$f(z) = z + \sum_{m=2}^{\infty} \frac{4(\alpha - 1)}{m(m+1)\{(m - k) + |m + k - 2\alpha|\} B_\lambda(a, c, m, n)} z^m \text{ belong to the class } M_\lambda(a, c, m, \alpha).$$

Now we discuss the coefficient estimates of functions $f \in M_\lambda(a, c, m, \alpha)$.

Theorem 2.2: $f \in M_\lambda(a, c, m, \alpha)$, then

$$|a_m| \leq \frac{\prod_{j=1}^m (j + 2\alpha - 4)}{B_\lambda(a, c, m, n)(m - 1)!} \tag{2.2}$$

Proof: Let us define the function $p(z)$ by,

$$p(z) = \frac{\alpha - \frac{z[SL_\lambda f]'}{SL_\lambda f}}{\alpha - 1}$$

for $f \in M_\lambda(a, c, m, \alpha)$. Then $p(z)$ is analytic in U , $p(0) = 1$ and $\Re\{p(z)\} > 0$. If

$$p(z) = 1 + \sum_{m=1}^{\infty} p_m z^m, \text{ then } |p_m| \leq 2, \quad (m \geq 1).$$

Since,

$$\alpha SL_\lambda f - z[SL_\lambda f]' = (\alpha - 1)p(z)SL_\lambda f$$

We obtain that,

$$(1 - m)B_\lambda(a, c, m, n)a_m = (\alpha - 1)\{p_{m-1} + p_{m-2}B_\lambda(a, c, 2, n)a_2 + \dots + p_1B_\lambda(a, c, m - 1, n)a_{m-1}\}.$$

If $m = 2$, then $B_\lambda(a, c, 2, n)a_2 \leq (\alpha - 1)p_1$ implies that

$$|a_2| \leq \frac{(\alpha-1)p_1}{B_\lambda(a,c,2,n)} \leq \frac{2(\alpha-1)}{B_\lambda(a,c,2,n)}.$$

Hence the coefficient estimate for (2.2) is true for $m = 2$. Let us suppose that the coefficient estimate,

$$|a_k| \leq \frac{\prod_{j=2}^k(j + 2\alpha - 4)}{B_\lambda(a, c, k, n)(k - 1)!}$$

is true for all $k = 2, 3, 4, \dots, m$. Then we have,

$$-mB_\lambda(a, c, m + 1, n)a_{m+1} = (\alpha - 1)\{p_m + p_{m-2}B_\lambda(a, c, 2, n)a_2 + \dots + p_1B_\lambda(a, c, m, n)a_m\}$$

So that,

$$\begin{aligned} mB_\lambda(a, c, m + 1, n)|a_{m+1}| &\leq (2\alpha - 2)(1 + B_\lambda(a, c, 2, n)|a_2| + \dots + B_\lambda(a, c, m, n)|a_m|) \\ &\leq (2\alpha - 2) \left(1 + (2\alpha - 2) + \frac{(2\alpha - 2)(2\alpha - 1)}{2!} + \dots + \frac{\prod_{j=2}^m(j + 2\alpha - 4)}{(m - 1)!} \right) \\ &= (2\alpha - 2) \left(\frac{(2\alpha - 1)2\alpha(2\alpha + 1) \dots (2\alpha + m - 4)}{(m - 2)!} + \frac{(2\alpha - 2)(2\alpha - 1)2\alpha \dots (2\alpha + m - 4)}{(m - 1)!} \right) \\ &= \frac{\prod_{j=2}^{m+1}(j+2\alpha-4)}{(m-1)!}. \end{aligned}$$

This implies

$$|a_{m+1}| \leq \frac{\prod_{j=2}^{m+1}(j+2\alpha-4)}{B_\lambda(a,c,m,n)m!}.$$

Hence the coefficient estimate (2.2) holds true for the class $k = m + 1$. Hence the theorem.

REFERENCES

1. B C Carlson and D B Shaffer, Starlike and prestarlike hypergeometric functions, SIAM J. on Math. Analysis 15 (1984), 737-745.
2. Dileep L. and S. Latha, A note on Sălăgean Carlson- Shaffer Operator, Int. J. of Mathematical Archive, - 2(2), ISSN: 2229-5049, 272-279, 2011.
3. S. Owa and J. Nishiwaka, Coefficient estimates for certain classes of analytic functions, J. Ineq. Pure Appl. Math., 3(5), Article72 (2002).
4. S. Owa and H.M. Srivastava, Some generalized convolution properties associated with certain subclasses of analytic functions, J. Ineq. Pure Appl. Math., 3(3), Article 42 (2002).
5. St Ruscheweyh, New criteria for univalent functions, Proc. Ann. Math. Soc., Volume 6, 1975, 109-115.
6. B. A. Uralegaddi, M.D. Ganigi and S. M. Sarangi, Univalent functions with positive coefficients, Tamkang J. Math., 25 (1994), 225-230.

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2018. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]